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1. Consider a sequence defined recursively as follows.

1
Tnyl = Z(xi’; — 32,4+ 6), x0=1.5.

(a) Use your pocket calculator to guess the limit of this sequence. Then use the recursive
formula to verify that this number is truly a limit of (z,).

(b) Find the order of convergence. If the order of convergence is 1, find the linear rate of
convergence.
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2. We will use Newton’s method to find approximate solutions of the system

z+siny = 1,
zy +sinex = 1.

(a) Write an iteration formula of the Newton’s method.
(b) Do 3 iterations with (xg,y0) = (1,1).
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